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IFVH s,V KEAY (17'3 61)

o
O+E82 OF8 85 =53¢
O (s4H8) |4, ot=2|7t § THEFS| +ERTCE AL O (F%Hh FE=2 3| YFE AR Qs =58T0| X|&
O (48) 4, M8 & M8 52 32T AH3E ES| 57} O (u=2|7}) 3= 3710 W2 =ETHIL sizfo =2 AN A
O (HAE) AIQ| GHO R [AME £=E2 MY Xz ZA O (H5) ¥d 57|9} |3t HH
O (YuE) F 523U MY E59 =52 U200 TS O (@) da.s3o iz a2 =5 57t
o= Qst A™ FI} O (W) I OBALS| 7t& & 24310 R0 4 F7}
O HH +=54H O MEESSE =545
(9 HE, %) () HE, %)
FEHEH(FA) 2016'4 68 20179 6
22 20154 2016 T 20154 | 20164
2016.6 2017.6 | HACHH| (a) 27HEH|(b)| 2FHL(Q |HI(c/b)| Hil(c/a)
=7H5A 8,028,367 | 8595500| 4,094,059 | 4415889 | 107.9 LRZEAE| 286930 261,499| 120,768| 3,297,680 | 128,734 3.9 | 106.6
FFuy 434,276 453,546 212,843 236,878 | 111.3 AL 259,185 | 226,161| 106,304| 2,923,984 | 113,391| 3.9 | 106.7
Y- 20,593 | 21,848 13,996| 174,278 12,207| 7.0 | 87.2
o= 2|7} 9,065 8,409 5514| 48401 4742 98| 86.0
O =28 A2AMH (FHNL 2K 4,116 4,346 2,171 39,520 2,063| 52| 950
(el HE, %) o Al 3,422 2,813 1,320 8788 1,588| 18.1 | 120.3
SEUEH(EA) CTES 2,715 2,850 2332 6,347 2121 334 | 91.0
e 20154 20164
2016.6 2017.6 | MAcHy| 7| 49 394 321 31,827 595 19| 185.4
SEHERME 286,930 261,499 120,768 128,734 106.6 jn/ Y= 39,339 | 42,911| 18,687| 99,306 14,808| 14.9 | 79.2
SAHE 259,185 226,161 106,305 113,391 106.7 S XbA} 22,203 23,589 12,133 15,746 8237| 523 | 67.9
ArE 17,905 26,138 11,297 12,876 114.0 HY 8,119 9,676 1,249 16,671 2,351 141 | 188.2
s 9,840 9,200 3,166 2,467 77.9 LEERA 2,956 3,724 2,245 2,286 1,810 792 | 80.6
TAE 147,346 192,047 92,075 108,144 117.5 HE] 351 1,370 912| 2,246 830| 370 | 910
A 434,276 453,546 212,843 236,878 111.3 =2 115,356 | 112,512 51,749| 140,280 58,268| 41.5 | 112.6
CLES 52,841 58,282 25,848| 48,593 35196| 724 | 136.2
Z2YE T 59,936 51,586 24,602 43,510 22,029| 506 | 89.5
O M2 107 2R =M (BFEHLE) sME 9,840 | 9,200 3,166| 160,671 2,467| 15| 779
(59 HE, %) A7 1,487 2,114 923 5,050 944| 187 | 102.3
SEUE(EA) A7) 4 734 195 2,587 789| 305 | 404.6
=2 g 20154 2016'd
2016.6 2017.6 Hdchy| gjx| 27| 77 104.6 34| 2672 52| 19| 152.6
1 21 43,299 70,263 44,010 54,764 124.4 Srbo) 1,350 1,351 631 - - - -
2| o=z 52,841 58,282 25,848 35,196 136.2 Q2|17 3,901 2,089 - 26 - - -
3 |zeYss 51,554 51,586 24,602 22,029 89.5 olAE 17,905 | 26,138 11,297| 213,025 12,876/ 6.0 | 114.0
4| M= 49,586 52,465 17,928 18,061 100.7 = 14,329 22,348 10,194| 24,181 11,007| 455 | 108.0
5 u]e:] 13,856 17,789 11,301 13,235 117.1 -“,‘-J,\_P% 147,345 192,047 92,075| 1,118,209 108,144 9.7 | 117.5
6| M= 14,329 22,348 10,194 11,007 108.0 2l 54,284 70,263 44,010| 269,029 54,764 204 | 124.4
7| SXpA} 22,203 23,589 12,133 8,237 67.9 e 33,934 52,465 17,928| 22,487 18,061| 80.3 | 100.7
8 -3 22,542 26,047 7,088 8,113 114.5 affe] 13,856 17,789 11,301 20,479 13,235 646 | 117.1
9 |mpm=a|7t 9,065 8,409 5,514 4,742 86.0 = 22,544 26,047 7,088 8,670 8113| 93.6 | 114.5
SPN| 5,094 5,666 2,770 29,493 2274 77| 821
10| Y 8,119 9,676 1,249 2,351 188.2
'6'*73“ 434,276 453,546 212,843| 4,415,889 236,878 54 | 1113




